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150 (23 mwp) 2> 17a (K5 pirwh)

72,5 8777 1RDVY DY INYTIN TYR NRTRD VNN YR K913 1Y) NN DINYWII NR INPYN KDY 1092 RNVD 9IVD 121 IRNVY 1INVYD NRNIN 1’2 DRYTIN .7

I 23 mwn: mY21 combine for n1 and oX¥7W combine to generate MYw
a  Dispute n5/a7regarding extent of m5221 917°¥. whether yvx fully includes mmnv mnna with mxrno mnna
i 27 only applies to "kmY (0 MNV+DRNY); but for NHaR, DNV do not join with XNV for nrd
ii 7% applies to eating as well as nkmv — all m%21 join to make YW, even NMnv NnN2 with NRNY
iii ’ow ’1. they are separate

1

Meaning (’o8 27#1): could mean fully separate and he disagrees with 11 (as well as "%);
(@) Could mean (»ox 27#2): only for n%x, and he agrees with 19
Challenge (to 'ox 27#1): Y2 o1 of a dead cow doesn’t join with %2 o3 of live Ynx ("nin 0 11R)
(a) Implication: if they were both dead (n%21), they would join — even though n12 is nmnv and Y03 — RNV
(b) Defense: infer otherwise — if they were both alive ("nn jn 71R), they’d join
(i) Per: nmn> "3 —who holds (v:1 91N ®Rnoawn) that ' 0 9aR also applies to NkNY NnN2
(ii) However: if both dead — not 97vxn
1. Challenge: then why did ®in “make the effort” to construct a case of 1 alive, 1 dead, if “both dead” is same?
2. Furthermore: Rn»11 — Y2 113 of live cow and % no1a of dead camel aren’t 970xn
a. However: if both are alive or both are dead — 1970%n
b. Note: this would establish a contradiction, unless we infer from 8w that if both dead — payvxn
3. Defense (for »ox *7): that ®n»71 could be taking position that 7708 5» Yn M*r (which »or "7 rejects)

b 27sruling regarding o’y7w n52x: for mon, must eat nrd
i Reason: text prohibits "n%aR” — which translates into nra
ii ~ Challenge: RN 71 >0v 1 taught the following in 13nv *1’s presence, for which 7 praised him:

1

oy v. 1 begins with n5ax (3¥pwn 8Y) and ends with nxrmo
(a) Teaching: that just as nRmV MYV is NWTYI (far smaller than m1), so liability for n%ar is nwTY?
Proposed answer: that refers to eating them if dead (when nkmv is active): 271 was referring to eating them alive
(a) Block (7an0: 27's statement was tangented to our nwn, which refers to dead nx v as well
(b) Rejection (»ax5 qor 7): 11 wasn't referencing our mwn; his was an isolated dictum (only in reference to live n'x1v)
Challenge (to »77's praise for n1”227): 1:X MR - D"2R have no minimum MYY; even <n>ta (1Y21) or <NWTYI (PIV) —PRNLN
(a) 2r17 77 but no man unless there is a m1a
(b) Answer (¥37): n"27’s dictum only related to P71 (v. 1) — those 8 mx1w that were made distinct
(i) But: all other n»¥7w require n>1a for man arn
(if) Challenge (8375 7278 72 XTX 77): if so, why not distinguish between n5T1211 NN ("MNV) and NYT2I0 NPR (NRNY)
1. Background: v. 1 compares o7 to NRNY NNNa
2. Such that: n>121 0521 NRMY only applies to NNV MNN; RNV NP2 NY2) might only be XY if N2
3. Answer: the comparison of D¥7w to NNV NNN1 (etc.) was only for the catch-all prohibition of w¥pwn Y1 (v. 1)
a. Not: for nMyw
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